
≔grid (( ,,,nr nc cellheight cellwidth)) for ∊ |i ‥0 −nr 1
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←cellrow mod (( ,i cellheight))
←cellshift mod (( ,cellrow 2))

for ∊ |

|

j ‥0 −nc 1

‖
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←cellcol mod (( ,j cellwidth))
←colour mod (( ,+cellcol cellshift 2))
←grid

,i j
colour

grid

=grid (( ,,,8 8 4 4))

0 1 0 1 0 1 0 1

1 0 1 0 1 0 1 0

0 1 0 1 0 1 0 1

1 0 1 0 1 0 1 0

0 1 0 1 0 1 0 1

1 0 1 0 1 0 1 0

0 1 0 1 0 1 0 1

1 0 1 0 1 0 1 0
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=grid (( ,,,16 16 4 4))

0 1 0 1 0 1 0 1 0 1 0 1

1 0 1 0 1 0 1 0 1 0 1 0

0 1 0 1 0 1 0 1 0 1 0 1

1 0 1 0 1 0 1 0 1 0 1 0

0 1 0 1 0 1 0 1 0 1 0 1

1 0 1 0 1 0 1 0 1 0 1 0

0 1 0 1 0 1 0 1 0 1 0 1

1 0 1 0 1 0 1 0 1 0 1 0

0 1 0 1 0 1 0 1 0 1 0 1

1 0 1 0 1 0 1 0 1 0 1 0

0 1 0 1 0 1 0 1 0 1 0 1

1 0 1 0 1 0 1 0 1 0 1 0
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